HEF—L(GERBF)

FEN—F AV =T

A F — L % 1 2 3 Rk B =1 [[=Fiva
1 HILEIER A O110| 082 2-0 6 1
2 FIIEEESIK | xX86 Oot114ff 1-1 4 2
3 ARSI x53 | x87 0-2 2 3
B F — L % 4 5 6 R B =1 JIE 452
4 AIIHESIK A O114| 0125 2-0 1
5 MNZDEBHEK x 31 x65| 0-2 3
6 #ILZEIIER B x35 | O71 1-1 2
o} F — L % iy BE
7 #IWESHE B 68 . —pa
— THIKXGEER
s | ZRIANEER 58 |80 alale 88
9 R RZERERPRER 86 54 _ - 59
10 HIE=—HESK :'55_ e
R —
F — L % A-14% | B-146z|C-14Z)  BEX =1 [[=Fiva
A-14L|  #RIEIIER A x63| x64)| 0-2 2 3
B-1fi| #IWESEXR A [O106 o100l 2-0 6 1
C-1fi| #IWEEIK B 084 | x51 1-1 4 2
4—6LRE)—T B
F — L % A-2fi|B-2fz|C-240| MK =1 [=Fiva
A-241| #ILTRBEESK 0102 0113| 2-0 4
B-2fz| #HILFEIIEK B x 77 x62| 0-2 6
C-2f4I| hRERERPRER | x56 | O89 1-1 5
7—116LREN—F AR
o} F — L % B BE
A-31i RS 62 R
c-3f| ZRAIANESK :T 74 MBS Jee
C-4fi| HMIF=EESK 61 |46 e |72
B-3fi| Az OEBEK jT MLE=MERER




HI5F—L (EREF)

T —JE
X F — L £ 1 2 3 R B B =L
1 BB EE 098 |O122ff 2-0 6 1
2 BIZEEK x 20 osofl 1-1 2
3 g T4 x30 | x28 0-2 2 3
Y F — L % 4 5 6 i fg = [[=tiva
4 BT TR EER 079 |O134ff 2-0 6 1
5 MUEF=FEEK | x67 O129f 1-1 2
6 HARZEEA A LEFR | x10 | x24 0-2 2 3
JIE {3z 3R 7E B
R
X-11F BT E SR 63 - ga
| BriRaEsE |— |  PLEREH
=R TEE
X-21 BIRER 63 o sk
vott | BrEomeRRE — | PLEEBREH
TR E
X-3ft BT F/ 119 . .
7 1B #
Vot | AR e AR || PLRIER




